JBL

CRUISE




CRUISE

Quick Start Guide
Guide de démarrage rapide

@ What” s in the box

[ [pesieacieasieacieacieseecteraiiraiecarcct || |
62000 000 050 aCo CooTo o elalao oo ol ||
\efelatale0e o%a 00 a0 e oo ore oa

X 2

Design for M10 PE bag

M10 Ad just screw

M10 Nut
x 2 x 4

- ®10 Spring washer for M10  ©10 washer for M10
M10 bolt x4 x 4

X 2

Design for M8 PE bag

M8*60 bolt Adjust screw M8
x 2 x 2

Design for Design for Harley
Davidson 1200 custom PE bag

M8#90 bolt  UNF5/16 ‘' Adjust screwUNF5/16 ¢* Nut
x 2 X 2 x 2



Quick Start Guide

Guide de démarrage rapide

CRUISE

@ Speaker for M10 installation

Disassemble left MI0 mirror from motorcycle

1.

Mirror

Disassemble M10

mirror from
motorcycle

¢10. 5 washer 2pcs and

2: Take the M10 bolt with M10 nut 2pcs,

¢10.5 spring washer 2pcs from M10 PE bag

¢10. 5 washer -

¢10.5 spring washer-—————|

MIO nut e

ML0 bolt--—---eev

M10 nut ----eeeeeeeee

¢10. 5 spring washer--------------

¢10. 5 washer -

Share parts for M8&Harley

E bag

Davidson 1200 custom P!

®8.5 washer

®8. 5 Spring washer

M8 Nut

6

Buttons




CRUISE

Quick Start Guide
Guide de démarrage rapide

3. Screw MIO bolt into the left speaker holder

rrrrrr MI10 bolt

4. Screw M10 bolt into left motorcycle mirror hole

1 Screw M10 bolt into
motorcycle mirror hole

Motorcycle mirror hole

5. Screw M10 Adjust screw into left speaker holder hole

6. Screw the M10 mirror into left speaker holder

Speaker holder

L



CRUISE

Quick Start Guide
Guide de démarrage rapide

@ Speaker for M8 installation

1. Disassemble M8 mirror from motorcycle

Mirror

Disassemble M8
mirror from
motorcycle

2: Take the M8#60 bolt from M8 PE bag and take M8 nut 2pcs,
¢8.5 washer 2pcs and ¢8.5 spring washer 2pcs from share
part PE bag

¢8.5 washer - —")

¢8.5 spring washcrm—r

M8#60 bolt--

3. Screw M8 nut, ¢8.5 washer and ¢8.5 spring washer onto
M8%60 bolt

¢8.5 asher - ——

¢8.5 spring washer -

L



_

CRUISE

Quick Start Guide
Guide de démarrage rapide

4. Screw M8*60 bolt into the Left speaker holder

LM8 bolt

5. Screw M8*60 bolt into left mirror hole after assembled ¢8.5
spring washer, ¢8.5 washer on it.

Screw M8*90 bolt into
motorcycle mirror holl

¢8.5 spring washer ==

¢8.5 washer, =
Assemble ¢8.5 spring
washer, ¢8.5 washer
on M8*60 bolt

Motorcycle mirror hole

6. Screw M8 Adjust screw into hole of the left speaker holder

Before

Speaker holder

7.Screw M8 Left mirror into speaker holder hole

Speaker holder

L



CRUISE

Quick Start Guide
Guide de démarrage rapide

@ Speaker for Harley Davidson 1200 custom installation

1. Disassemble UNF5/16"" left mirror from motorcycle
Mirror
Disassemble

UNF5/16"" mirror
frommotorcycle

2: Take the M8%90 bolt from Design for Harley Davidson 1200
custom PE bag and take M8 nut 3pcs, ¢8.5 washer 3pcs and
¢8.5 spring washer 3pcs from share part PE bag

M8*90 bolt---

3. Screw M8 nut, ¢8.5 washer and ¢8.5 spring washer onto
M8*90 bolt

¢8.5 washer

¢8.5 spring washer

¢8.5 spring washer

¢8.5 washer

M8*90 bolt

Adjust the bolt to a
proper location



CRUISE

Quick Start Guide
Guide de démarrage rapide

4. Screw M8*60 bolt into the Left speaker holder

"""" M8%90 bolt

5. Screw M8%90 bolt into left mirror hole after assembled ¢8.5
washer, ¢8.5 spring washer, M8 nut on it.

Use M8 nut to
tighten the boll

¢8.5 washer
¢8.5 spring washer ==
M8 nut 0D

Assemble ¢8.5 spring
washer, ¢8.5 washer
on M8*90 bolt

Motorcycle mirror hole

6. Screw UNF5/16” Adjust screw into hole of the left
speaker holder

UNF5/16”
Adjust screw

7. Screw UNF5/16” nut, ¢8.5 washer and ¢8.5 spring washer
onto mirror bolt

Befbre
UNF5/16”

UNF5/16"
mirror bolt
/

¢8. bspring washer
¢8. 5 washer

L



CRU

ISE

Quick Start Guide
Guide de démarrage rapide

8. Screw UNF5/16” Left mirror into speaker holder hole

Before

__ mirror

) E
~ :
=4 : C
SI)Lvakcx" holder

UNF5/16"

@ Bluetooth” pairing mode

w?

JBL. Cruise

Choose “JBL Cruise” to connect

@ LED indication
EN
Status LED indication

3 Pairing mode Blinking

$ Power on, no BT Slow blinking

8 B lietooth connected ® On

@ USB port on right speaker

5W output to charge smart phone

@ WARNING

THERE MAY BE UNEXPECTED SHAKE AND VIBRATION DURING
YOUR DRIVE. PLEASE MAKE SURE THE SPEAKER IS MOUNTED
TIGHTLY TO YOUR VISOR AND WON’ T FALL DOWN DURING
YOUR DRIVE.



_ L
Quick Start Guid
CRUISE Guide de (l(l"lliz(llrru;(:‘r:ap?éoc

Specifications

EN

* Transducer: 2 x 65mm

* Rated Power: 2 x 20

* Operation Frequency: 2402MHz - 2480Miz

* Max Output Power: <4dBm

* Bluetooth Version: 3.0

* Support: A2DP V1.3, AVRCP V1.4

* Multi-points (up to 2 phones)

* Dimensions (Hx WxD): 100mm x 609mm x 160mm
* Weight: 350g




CR ISE Quick Start Guide
U Guide de démarrage rapide

Topropas Mapka : JBL
Hasnauenve ToBapa © AKTUBHAY AKYCTUYECKAS CUCTEMA
VsroToBuTrens : XAPMAH UHTEPHEIIH JIMHIACTPY3 NHKOPTIOPENTE]L, CLIA
06901 KOHHEKTHRYT, r.CTOMOOPL, ATJIAHTHK CTPUT400, OPC 1500
CTpara ITPOHCXOKEHNA : Kurait
Wmroprep B Poccuio : 000“XAPMAHPYC CuAiidc®, POCCUS, 123317, MOCKBA, TIPECH EHCKASIHAB, IT. 10
lapaHTHITHBII TIePUOJT o lrox
HWudopmanms o
CePBUCHBIX LeHTPax : www. harman. com/ruren.+7-800-700-0467
CpOK ey KGLI : Guer
CpOK XpaHeHHs i HeOrpaHHueH
YenoBus XpaHeHHA : CTaHAapTHBIE IPH HOPMAJILHBIX 3HAYEHMAX KIMMATHUECKNX (DaKTOPOB BHELIHe! cpejibl
Homep JI0Ky MerTa

Tonapeepmupmanponars EAL

Jlata M3roTORNEHMsA YCTDPOFICTBA ONPEIENACTCA 110 IBYM Oy KBEHHBIM 0003HAYeHUAM M3 BTOPOI I'PYIIILI CHMBATOB CEPHITHOIO
HOMepa H3JIeITHs JOLLMX T0C/IE PasIe/TMTENBHOTO0 3Haka «—», K COOTBETCTBYET TMOPSLKY OyKB JIATMHCKOTO

andaBuTa, HauKHaAs ¢ sHBaps 2010 roma: 000000-MY0000000, e «M» — Mecar nponaBoncTBa (A —suBapb, B — deBpain,
C—mapTuT, 1) n«Y» — o npouasonctBa(A- 2010, B - 2011, C-2012um1).

cooTBeTCTBUA
Jata npouaBoaCcTBa

aA NATEL

Agéncia Nacional de Telecomunicagdes
Este equipamento opera em cardter secundario, istoé, nao tem direito a protegao contra interferéncia prejudicial, mesmo de estagdes do

mesmo tipo, e nao pode causar interferéncia a sistemas operando em carater primario”

Este produto esté homologado pela ANATEL, de acordo com os procedimentos regulamentados pela Resolugao 242/2000, e atende aos
requisitos técnicos aplicados.

Para maiores informagdes, consulte o site da ANATEL — www. anatel. gov. br

€3 Bluetooth’

The Bluetooth word mark and logos are registered trademarks owned by Bluetooth SIG, Inc. and any use of such marks by HARMAN
International Industries, Incorporated is under license. Other trademarks and trade names are those of their respective owners.

TR04659_A



